0’9*'!‘503

Problem 9)

nndt Ond g tin W%W ove Yo ATiangld - L
AT 6 Mo Gbrnn Cortel 22l Olo . T Ton _Momitl

&M&%W'ﬂ7l mzuw,z;ww»{w gy v

, d& Al
Thon %@/ X N (Ao = 27110
Crcle /ée’vg(é'-e 1) €20 Y,
ote=,

. ‘ )
Fpr Wo Cncle thuj 2=-| We bt 2z _i4¢e

. We thom
J M&
‘9§ 2(%4—4) 56 ¢

> —2m¢
Civelde (-i+ee ﬂ)/ee/af Emvo
at 2=-|
e WMWWAM /
Mwa We Coutd osde

=$(d-Lyde - 2.
Z'(Z-H) Z 2+ < % Z+1

Eacl, WA fhston ezvmﬂ/‘l[ 200 bme, . residue gk Ha &s/vmammﬂ/f
Pele s wolich o efual B 4. Ty fnsbrerkt s 00-200 =0 w0 botn.

Covenden cloclt voife, For Hu ﬁwc&/hwﬂwd"j 220 We ol #zed




